Quiz 6.1A | AP Statistics Name: Key

1. The probability distribution below is for the random varfable X' = number of mice caught m
traps during a single night in small apartment building.

L X 0l 1] 2113 ] 471 3
A 10020200311 0.14(0.16  0.07

{a) Make a histegram of this probability distribution in the grid:

(b) Describe P(X =2} in words and find its value.
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(¢) Express the SVERT trapping af least one mouses” in terms of X and find its probability.
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2. The toial sales on a randomly-sefected day at Joy’s Toy Shop can be represenied by the
continuous random vatiable 8, which has a Normal distribution with a mean of $3600 and a

standard deviation of $300. Find and interpret P($ > $4000).
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3. Joe the barber charges $32 for a shave and haircut and $20 for just a haircut. Based on
experience, he determines that the probability that 2 randomly selected customer comes in
for a shave and haircut is 0.83, the resi of his customers come in for just 4 haircut. LetJ =
what Joe charges a randomiby-selected custorner.

(1) Give the probability distribution for J.
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(b} Find and imerpret the mean of J, u,.
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(¢} Find and interpret the standard deviation of /, o, .
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Quiz 6.3A

AP Statistics Name:

b, Deterrsine whether each random variable described below satisfies the conditions for a
binomial setting, a geometric setting, or neither, Support your conclusion in each ¢ase.
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(a) Suppose that one of every {00 people in a large community is infected with H{V. You
want to identify an HTV-positive person to include in a study of an experimental new
drug. How many individuals would you expect to have to interview in order to find the

first person who is HIV-positive?

has HIV

~ £5% ¢
6‘600’1\@'}7““(— fj“;e'l-h flﬁ @5 uf!rw& x pe HIV

it~

o 5 e 2
@mﬁww"'“ (e‘«CL‘ Pfﬁjﬁ:}:r e Aren Hoe rs
(D .o\ twence oF gedniy porson Wl RV,

(b) Deal seven cards froma a standard deck of 52 cards. Let 1+ the number of hearts dealt.
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2. Research suggesls thal about 24% of 12-vear-olds in the Umted States can pick out lhe slatc
of Colorado on 2 map.

(a) What is the probability that you mmust sample exactly 5- twelve-year-olds 1o find the first

one who can pick out Colotado on a map?
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(b) What is the probability that you must sample 5§ or more twelve-year-olds to find the first

one who can pick out Colorado on a map?
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3. An online poll reported that 20% of respondents subscribe to the “five-second rule.” ‘Ihat is,
they would eat a piece of food that fell onto the kitchen (loor if it was picked up within five
seeonds. Let’s assume this figure is accurate for the entire U.S. population, and we select 15
people al random from this population. o 2,20 "= \S

(a} Determine the probability that exactly 3 of the 15 people subscribe to the “five-second
rule.” brersial\
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(b) Find the probability that less than 4 peaple out of 15 subscribe to the “five-second rule.”
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{c) Let F' = the mumber of people in our sample of 15 who subseribs to the “five-second
male.” Pingd the mean and standard devialtion for £
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